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Attempt five questions in all. Answer three questions from
Section A and one question each fromSections
B and C. All questions carry equal marks.
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SEcTION A (@TE 37)

1. In many States of India the dropout rate at the
elementary level is still 50% or above.

(2) Explain what js the meaning of dropout rate.
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(b) Discuss three major State related and three family
related reasons for the high dropout rates.

(c) InIndia, the female dropout rate is always higher
than the male dropout rate. Why?

YRE & o8 TS ° e @ w ot st s ot
50% I1 IR 31U &

(F) TAWER {6 (YRR @ AW S @Rl 81 4
(@) 3= fTsAmm 8 & o9 defug @7 s sk

@R geEfug @19 srof # fGaes s@fe) 6
(M 9a § FEfEE T feEmT R deE § W SR
Wl &1 WA ? 5

2. Why was a commission on secondary education, ‘The
Mudaliar Commission’ set up? Discuss relevance or
irrelevance of five of its recommendations in todays

time.
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3. ({) Has the three languageiformula been able to deal
with the linguistic plurality of India? What have
been the major hurdles in implementing this?
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(i) The special Government school schemes such as
the Navodaya Vidyalaya, Pratibha Vikas
Vidyalaya, Kendriya Vidyalaya, etc., are criticized
by some for subverting the equal opportunity
agenda. However, others welcome the same
arguing that these create better learning opportu-
nities for the children of the deprived sections.
Present your comments on this.
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4. Write short analytical (not descriptive) notes on any
two of the following :

(!) Student unrest and education

(zf) Difference between vocationalization, commer-
cialization and privatization of education

(i) Fundamental differences between  modern and
indigenous systems of education.
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Secrion B (TUE 1)

. What are the responsibilities of the Parent Teacher
Association in a school system? Discuss the problems
in fulfilling these responsibilities. Specifically, discuss
two examples of the problems faced by the parent
members of the PTA belonging to marginalized
groups.
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. The school principal of a school is not in favour of
giving rewards to a few selected students. She does
not favour punishment system either. She prefers a
system of rewarding all the students. What would be
your stand in such a situation and why? Please answer
this question keeping in mind the critique of
competition as discussed in the Yashpal Committee
Report (1993).
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Most of the people in India do not have access to
safe drinking water. How does this impact the life
of the schoolchildren?
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